

Oluwademiade Adeyemo  
Mechatronics  
16/ENG051003

$$x = \cos t + t \sin t$$
$$\frac{dx}{dt} = -\sin t + t \cos t + \sin t$$
$$\frac{dx}{dt} = t \cos t$$

$$y = \sin t - t \cos t$$
$$\frac{dy}{dt} = \cos t + t \sin t - \cos t$$

$$\frac{dy}{dt} = t \sin t$$
$$\frac{dy}{dx} = \frac{dy/dt}{dx/dt} = \frac{t \sin t}{t \cos t}$$
$$= \frac{\sin t}{\cos t}$$

$$\therefore \frac{d^2y}{dx^2} = \frac{d}{dt} \left( \frac{\sin t}{\cos t} \right) \times \frac{dt}{dx}$$

$$\frac{d^2y}{dx^2} = \frac{(\cos t)(\cos t) - (\sin t)(-\sin t)}{\cos^2 t} \times \frac{1}{t \cos t}$$

$$\frac{d^2y}{dx^2} = \frac{\cos^2 t + \sin^2 t}{\cos^2 t} \times \frac{1}{t \cos t}$$

From trigonometric functions  $\cos^2 t + \sin^2 t = 1$

$$\therefore \frac{d^2y}{dx^2} = \frac{1}{t \cos^3 t}$$

I. Radius of curvature (R)

$$R = \frac{\left( 1 + \left( \frac{dy}{dx} \right)^2 \right)^{3/2}}{\frac{d^2y}{dx^2}}$$

$$R = \left( 1 + \left( \frac{dy}{dx} \right)^2 \right)^{3/2} \times \frac{dx^2}{dy}$$

$$= \left( 1 + \left( \frac{dy}{dx} \right)^2 \right)^{3/2} \times t \cos^3 t$$

$$= \left( 1 + \left( \frac{\sin t}{\cos t} \right)^2 \right)^{3/2} \times t \cos^3 t$$